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OO0O00000000 O //TestOverLoad.javapublic class
TestOverLoad{ public static void main(String[] args) { Test test =
new Test(). test.print(null). } }class Test{ public void print(String
some) { System.out.printin("String version print"). } public void
print(Object some) { System.out.printin("Object version print"). }}
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TestOverLoad{ public static void main(String[] args) { Test test =
new Test(). test.print(null). } }class Test{ public void print(String
some) { System.out.printin("String version print"). } public void



print(Object some) { System.out.printin("Object version print"). }
public void print(StringBuffer some) {
System.out.printin("StringBuffer version print"). }}01 0 0O 0 O 0O [
0000000000 StringBuffertd StringD O O O 0O O OO
OO00000000OStringBufferdd Stringd D O 0O 0O OO
Jododododododouooooodooodo
Jodododododouooouoooodododnnul
OO00O"elloworld'D 00 000O00O0O0OONOO O String
version printd O O O Ojavasuncomd OO0 o0 oododd
Jododododododouooooodouoodo
[ O 0O O O public class A{ public int aMethod(String s) {
System.out.printin(s). return 1. } public void aMethod(String s) {
System.out.printin(s). }0 0O O O O O O O aMethod(String s)J [
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